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how Flexigraze works

e ‘Conservation
grazing’

* Precise use of
livestock

— encourages
biodiversity

— supports native
species :

— Landowners can buy
grazing time




how Flexigraze works

* variety of species and
breeds
— ponies
— cattle
— sheep




Flexigraze: a fair deal for all

« enhances/conserves a
mosaic of habitat in
B — countryside

e creates and maintains
habitat for wildlife

« shearlings have a good
life

e Income supports other
grazing species

« supports local butcher

* benefits the North East’s

hill farmers m
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Traditional Breeds
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End of grazing




Wetland







graze

-

Flexi









- -

Flexigraze )







_Community groups
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fair price paid to hill farmers |
fed on chemical-free grassland

allowed to grow at own fate
slaughtered as "shearlings™
Uses land that unsuitable for growing crops




dlrect sales
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the buying group:model

» shearlings wei_g‘h ,21—'2'5kg£ at slaughter
« this equates to 11-12kgper 14
- after butchery = 9-10kg of quality meéat per %
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< the buying group model
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‘_1/2 shearllng @ £65 cons.léts b’ ’*‘-\

N
l

12-16/chops dependlng on S|ze ~ 3 Chump ChOIOS '

1 shank'end of leg’ i v rolled shoulder

A (can'be cut:in half
1 chump end of Ieg i il iy egpprox dib. mince )
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the buying group model

2-way split for ¥2 shearling £65:

Household A

* 1leg shank end
« 8 chops

* 1% shoulder

« approx 1llb mince

Household B

* 1 leg chump end
* 4 chops

* 12 shoulder

« 3 chump chops



the buying group model

4-way split for %2 shearling £65:

Household A Household B Household C Household D
leg shank Y, shoulder leg chump Y shoulder
4 chops 4 chops 4 chops 3 chump chops

Approx 1 Ib

Gy



the buying group model

The maths:

Y5 shearling @ £65 = £65 for 1 household
= £32.50 for 2 households
= £16.25 for 4 households






